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General Instructions :
All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each. Section - B comprises of 8 questions of
2 marks each. Section - C comprises of 10 questions of 3 marks each and Section - D
comprises of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A
Question numbers 1 to 10 carry one mark each.

The value of (secA +tanA)(1 —sinA) is
(A) sinA (B) cosecA (C) cosA (D) sinA

In AABC right angled at B, tanA =1, the value of 2sinAcosA is :
(a) -1 (B) 2 © 3 (D) 1

If \/2 sin(60—a) = 1, then the value of « is :
(A) 45° (B) 15° (C) 60° (D) 30°

The perimeters of two similar triangles ABC and LMN are 60 cm and 48 cm respectively. If
LM =8cm, length of AB is

(A) 10 cm (B) 8cm (C) 5cm (D) 6cm

If tan(A—B)= % and sinA = \/15

(A) 45° (B) 60° (C) 0°

, then the value of B is :

Which is not irrational number ?

A) -3 B) 6+ 9 ) V3-1

How many prime factors are there in prime factorization of 5005.
(A) 2 (B) 4 ©) 6 (D) 7

The Classmark of a Class Interval is
(A) Lower limit + Upper limit (B) Upper limit — Lower limit

1
© %(Lower limit + Upper limit) (D) Z(Lower limit + Upper limit)

The value of k for which the pair of equations kx —y=2 and 6x—2y=3 has a unique solution :
(A) k=3 (B) k=3 Q) k=0 (D) k=0

The quadratic polynomial having zeroes are 1 and —2 is :
(A) x2—x+2 (B) x2-x-2 (C) x2+x-2 (D) x2+x+2
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SECTION - B

Question numbers 11 to 18 carry 2 marks each.

If /3 tan6=3 sind, then prove that sin?0 —cos2 =

OR

If 7sin20 + 3cos20 =4, then prove that sec +cosecd = 2+

Construct a more than cumulative frequency distribution table for the given data :

Class Interval | 50-60 | 60-70 | 70-80 | 80-90 {90-100|100-110

Frequency 13 15 17 21 23 19

Determine a and b for which the system of linear equations has Infinite number of solutions.

(2a—1)x+3y—5=0; 3x+(b-1)y—2=0

What must be added to polynomial f(x) = x*+ 2x3 — 2x2 + x — 1 so that the resulting polynomial

is exactly divisible by x2+2x—3.

Find the mode of given distribution :

Class Interval 10-20 | 20 -30

Frequency 12 22

Use Euclid Lemma to show that square of any positive integer is of form 4m or 4m+1 for
some integer m.
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17. In figure 1, DE|BC. Find x.

Figure 1

18. In figure 2, ZBAC=90°, AD L BC. Prove that : AB>+CD?=BD?+ AC?.

C

A
Figure 2

SECTION - C

Question numbers 19 - 28 carry 3 marks each.

If one solution of the equation 3x2=8x+ 2k +1 is seven times the other. Find the solutios and
the value of k.

In figure 3, the line segment PQ is parallel to AC of triangle ABC and it divides the triangle
into two parts of equal area. Find the ratio AR
A

Q

Figure 3
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Prove that 3 — /5 is an irrational number.

OR
Solve for x and y.

£+z=2;ax—by=az—b2,
a b

cosa cosa
If = m and — = n then
cosf3 sinf3

show that (m2+n?) cos?@=n2.

Find the median for the following frequency distribution :

Class Interval | 10-19 | 20-29 | 30-39 | 40-49 | 50-59
Frequency 2 4 8 9 4

A man travels 370 km partly by train and partly by car. If he covers 250 km by train and rest
by car, it takes him 4 hours . But if he travels 130 km by train and rest by car, he takes 18
minutes longer. Find speed of the train and that of the car.

OR

Six years hence a man’s age will be three times his son’s age and three years ago, he was nine
times as old as his son. Find their present ages.

Find H. C. F and L. C. M of 816 and 170 by fundamental theorem of Arithmetic.

If AD and PM are medians of AABC and APQR respectively where AABC~APQR. Prove
AB _AD

that — = —
PQ PM

In figure 4. ABCD is rectangle in which segments AP and AQ are drawn. Find the length
(AP +AQ).

D Q C
30°

60 cm
Figure 4
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28.

29.

Find the missing frequency p, if the mean of given data is 50.

Class Interval | 0-20 | 20-40 | 40-60 | 60-80 | 80 -100
Frequency 17 p 32 24 19

OR

Find the mean of the given data by step deviation method.

Class Interval 10 - 20 20 -30 30 -40

Frequency 10 15 8

SECTION - D

Question numbers 29 to 34 carry four marks each.

Prove that

1+sec A

2 _ 1-sin A
cot“A(secA—1) _ sec?A ( j

1+ sinA

1 + cos® — sin®

: = 0 + cotb.
cosf —1 + sin6 cosect + cot

Draw the graphs of equations 3x +2y=14 and 4x—y=4. Shade the region between these
lines and y-axis. Also find the co-ordinates of the triangle formed by these lines with y-axis.

Evaluate :

3tan45°tan20°tan40°tan50°tan70° + sin263° + sin227°

sin(50°+ 0)— cos(40°—0)+ lcot2 30° + 5 5
4 5 cos“17°+ cos“73°

Find all zeroes of polynomial 4x*—20x3+23x?+5x — 6, if two of its zeroes are 2 and 3.

1040119 - A2




Following distribution shows the marks obtained by the class of 100 students.

Marks 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60 -70
No. of students 10 15 30 32 8 5

Draw less than ogive for the above data. Find median graphically and verify the result by
actual method.

Prove that the ratio of the areas of two similar triangles is equal to the squares of the ratio of
their corresponding sides.

OR

Prove that in right triangle, the square of the hypotenuse is equal to the sum of the squares of
the other two sides.
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